

Strategies for the use of *Ginkgo biloba* extract, EGb 761[®], in the treatment and management of mild cognitive impairment in Asia: Expert consensus

Nagaendran Kandiah^{1,2,3}  | Yee Fai Chan⁴ | Christopher Chen⁵ | Darwin Dasig⁶ | Jacqueline Dominguez⁷ | Seol-Heui Han⁸ | Jianping Jia⁹ | SangYun Kim¹⁰ | Panita Limpawattana¹¹ | Li-Ling Ng¹² | Dinh Toan Nguyen¹³ | Paulus Anam Ong¹⁴ | Encarnita Raya-Ampil¹⁵ | Nor'izzati Saedon¹⁶ | Vorapun Senanarong¹⁷ | Siti Setiati¹⁸ | Harjot Singh¹⁹ | Chuthamane Suthisisang²⁰ | Tong Mai Trang²¹ | Yuda Turana²² | Narayanaswamy Venketasubramanian²³ | Fee Mann Yong²⁴ | Yong Chul Youn²⁵ | Ralf Ihl²⁶

¹National Neuroscience Institute, Singapore, Singapore

²Duke-NUS, Singapore, Singapore

³Lee Kong Chian-Imperial College, Singapore, Singapore

⁴Hospital Kuala Lumpur, Kuala Lumpur, Malaysia

⁵Departments of Pharmacology and Psychological Medicine, Yong Loo Lin School of Medicine, Memory Aging and Cognition Centre, National University of Singapore, Singapore, Singapore

⁶Makati Medical Center, Manila, Philippines

⁷St Luke's Medical Center, Manila, Philippines

⁸Konkuk University Medical Center, Seoul, Korea

⁹Xuanwu Hospital, Capital Medical University, Beijing, China

¹⁰Department of Neurology, Seoul National University College of Medicine and Seoul National University Bundang Hospital, Seoul, Korea

¹¹Srinakarind Hospital, Faculty of Medicine, Khon Kaen University, Khon Kaen, Thailand

¹²Changi General Hospital, Singapore, Singapore

¹³Department of Internal Medicine, University of Medicine and Pharmacy, Hue University, Hue City, Vietnam

¹⁴Hasan Sadikin General Hospital, Jawa Barat, Indonesia

¹⁵University of Santo Tomas, Metro Manila, Philippines

¹⁶Department of Medicine, University of Malaya, Kuala Lumpur, Malaysia

¹⁷Faculty of Medicine, Siriraj Hospital, Mahidol University, Bangkok, Thailand

¹⁸Department of Internal Medicine, Cipto Mangunkusumo Hospital, Jakarta, Indonesia

¹⁹Dr Harjot Singh's Neuropsychiatry Centre and Hospital, Amritsar, India

²⁰Faculty of Pharmacy, Mahidol University, Bangkok, Thailand

²¹Department of Neurology, University Medical Center, Ho Chi Minh City, Vietnam

²²School of Medicine and Health Science, Atma Jaya Catholic University of Indonesia, Jakarta, Indonesia

²³Raffles Neuroscience Centre, Raffles Hospital, Singapore, Singapore

²⁴Subang Jaya Medical Centre, Selangor, Malaysia

²⁵Chung-Ang University Medical Center, Seoul, Korea

²⁶Alexian Hospital, Krefeld, Germany

This is an open access article under the terms of the Creative Commons Attribution License, which permits use, distribution and reproduction in any medium, provided the original work is properly cited.

© 2020 The Authors. *CNS Neuroscience & Therapeutics* Published by John Wiley & Sons Ltd.

Correspondence

Nagaendran Kandiah, National Neuroscience Institute, 11 Jalan Tan Tock Seng, Singapore 308433, Singapore.
Email: nagaendran.kandiah@singhealth.com.sg

Funding information

Schwabe Pharma Asia Pacific Pte Ltd, together with Dr Willmar Schwabe GmbH & Co. KG, provided funding for the writing of this manuscript, and sponsorship for the Expert Group advisory board meeting upon which this consensus document was based.

Abstract

Background: Mild cognitive impairment (MCI) is a neurocognitive state between normal cognitive aging and dementia, with evidence of neuropsychological changes but insufficient functional decline to warrant a diagnosis of dementia. Individuals with MCI are at increased risk for progression to dementia; and an appreciable proportion display neuropsychiatric symptoms (NPS), also a known risk factor for dementia. Cerebrovascular disease (CVD) is thought to be an underdiagnosed contributor to MCI/dementia. The Ginkgo biloba extract, EGb 761[®], is increasingly being used for the symptomatic treatment of cognitive disorders with/without CVD, due to its known neuroprotective effects and cerebrovascular benefits.

Aims: To present consensus opinion from the ASian Clinical Expert group on Neurocognitive Disorders (ASCEND) regarding the role of EGb 761[®] in MCI.

Materials & Methods: The ASCEND Group reconvened in September 2019 to present and critically assess the current evidence on the general management of MCI, including the efficacy and safety of EGb 761[®] as a treatment option.

Results: EGb 761[®] has demonstrated symptomatic improvement in at least four randomized trials, in terms of cognitive performance, memory, recall and recognition, attention and concentration, anxiety, and NPS. There is also evidence that EGb 761[®] may help delay progression from MCI to dementia in some individuals.

Discussion: EGb 761[®] is currently recommended in multiple guidelines for the symptomatic treatment of MCI. Due to its beneficial effects on cerebrovascular blood flow, it is reasonable to expect that EGb 761[®] may benefit MCI patients with underlying CVD.

Conclusion: As an expert group, we suggest it is clinically appropriate to incorporate EGb 761[®] as part of the multidomain intervention for MCI.

KEYWORDS

cerebrovascular disease, dementia, EGb 761[®], *Ginkgo biloba*, mild cognitive impairment, neuropsychiatric symptoms

1 | INTRODUCTION

The global burden of cognitive disorders is rapidly becoming a major chronic health issue worldwide. Currently, approximately 50 million individuals are living with dementia, and this number is expected to approximately double in the next two decades, with much of the increase likely to be attributable to low-to-middle income countries, particularly within Asia.¹ As well as dementia sufferers, a great many more elderly individuals have less pronounced, but nonetheless distressing, signs of cognitive decline and memory loss.^{2,3}

Mild cognitive impairment (MCI) is a clinically defined neurocognitive state between normal cognitive aging and dementia, with evidence of neuropsychological changes but without sufficient functional decline to warrant a diagnosis of dementia.^{4,5} Individuals with MCI are at increased risk for progression to dementia,^{3,6–9} but only a small proportion of these patients are likely to present for diagnosis

and treatment. Hence, there is a need to raise greater awareness of this syndrome and its management.⁴

The current prevalence of MCI is difficult to establish due to a lack of standardized diagnostic criteria and assessment procedures.^{2,10} Estimates vary depending on the country, the diagnostic criteria used, and the age of the study population.^{10,11} MCI prevalence increases with advancing cohort age; it is estimated that 6.7% of individuals aged 60–64 have MCI, increasing to 8.4% for ages 65–69, 10.1% for ages 70–74, 14.8% for ages 75–79, and 25.2% for ages 80–84.³ Depending on the arbitrary criteria used to define MCI, the global prevalence of MCI is reported to be approximately threefold higher than the global prevalence of dementia (5%–7% in all individuals over 60 years of age).¹²

Asian data suggest an overall MCI standardized prevalence of around 5%–20%, depending on the country, the age of the cohort, and the criteria applied.^{11,13–18} A recent meta-analysis of 48 studies from China reported a pooled prevalence of 14.7% in individuals

aged ≥ 60 years.¹⁸ Overall, these MCI data are approximately double the reported prevalence of dementia across various Asian countries (2%–13%).^{19,20}

1.1 | Definition of MCI

Making a distinction between normal cognitive aging and MCI remains a clinical challenge. Following subjective memory complaints, a diagnosis requires the use of validated tools for cognitive testing and functional assessment.²¹ Historically, the criteria for MCI have included subjective complaints and objective cognitive impairments in domains such as memory, executive functioning, attention, language, and visuospatial skills, but without impairment in function or activities of daily living (ADL).^{2,6,22} However, more recently, it is acknowledged that subtle deficits in more complex instrumental ADL may indeed be present in patients with MCI.^{6,23}

Two broad subtypes of MCI (amnesic and nonamnesic) are recognized, based on whether or not memory impairment is present. Depending on whether more than one domain is impaired, both subtypes can be further categorized as either single domain or multidomain.²⁴

1.2 | Neuropsychiatric symptoms in MCI

Neuropsychiatric symptoms (NPS), also known as “noncognitive behavioral and psychological symptoms of dementia,” may include depression, anxiety, irritability, apathy, and changes in personality or usual behaviors.^{25–27} NPS are observed across the severity spectrum of dementia, and are common in patients with MCI.^{25,26} Reports are variable, but between 35% and 85% of MCI patients may display NPS.^{25–28} The presence of NPS in MCI increases the caregiver's burden²⁹ and is also associated with an increased risk of incident dementia.^{30–32}

1.3 | Pathophysiology of MCI

Pathologic evidence of Alzheimer's disease (AD) has been observed in individuals with memory impairment but no clinical manifestation of AD, indicating that the degenerative process may begin years before clinical manifestation.^{33–35} The pathophysiology of age-associated memory disorders appears to be multifactorial. Across the spectrum of age-related memory and cognitive disorders, neurodegenerative changes (ie, synaptic deficits and neuronal loss) and histopathological alterations (ie, increased production of β -amyloid leading to extracellular amyloid-containing plaques, and formation of intracellular hyperphosphorylated tau-protein tangles) have been observed.³⁶ Impaired cerebral glucose metabolism in memory-related brain regions has also been reported.³⁷ There is increasing evidence that mitochondrial dysfunction, in terms of reduced mitochondrial enzyme function and increased oxidative stress, is a major pathomechanistic contributor to these findings.³⁶

As well as neurodegenerative brain changes, vascular pathologies such as small vessel disease (eg, ischemic white matter changes, multiple lacunar infarcts), large vessel disease (eg, multiple infarcts, single strategically placed infarcts), or hemorrhage (eg, multiple microbleeds) have been frequently reported in dementia, and may be evident before overt clinical symptoms arise.^{38–40} Cerebrovascular disease (CVD) is thought to be underdiagnosed¹⁹ and underestimated as a potential cause of MCI.⁴ In this context, there is some evidence for a relatively higher prevalence of CVD among Asian patients with MCI and dementia, compared with Western populations.^{41,42} In Asia, CVD is reported to account for approximately 4% of MCI cases¹⁷ and approximately 20% of dementia cases,¹⁹ with variation between and within countries.^{16,17,19}

1.4 | Risk of progression from MCI to dementia

Because MCI is a known risk factor for, and an early manifestation of, dementia and other neurodegenerative disorders,^{3,6–9} early, accurate diagnosis of MCI represents an important opportunity for therapeutic intervention.^{2,3,22}

The rate of progression to dementia has been estimated at between 10% and 19% per year in individuals with MCI, compared with 1%–2% in the general population.^{3,22,43–45} Consistent with this, a large systematic review reported MCI-to-dementia progression rates of 10%–36% over 2 years,⁴³ while the German AgeCoDe study reported that approximately 40% of patients aged ≥ 75 years with amnesic MCI progressed to dementia over 3 years of follow-up.⁴⁶ In a large, prospective Australian study, over 30% of individuals with MCI (mean age, 76 years) transitioned to AD within an 18-month follow-up period.⁴⁷

Although between 15% and 50% of patients may revert to normal cognition after a diagnosis of MCI,^{3,46,48} these individuals remain at significantly higher risk of MCI re-diagnosis and ultimate progression to dementia.^{3,48}

It is important to identify MCI patients who are at higher risk for dementia, to ensure early intervention. As well as the presence of NPS,^{30–32} risk factors such as age,⁴⁵ diabetes mellitus,³⁰ baseline memory impairment,^{33,49} sharp decline in functional ability,⁴⁹ impaired executive performance,³³ and instrumental ADL deficits²³ may increase the likelihood of further cognitive decline. A number of biomarkers such as hippocampal volume, medial temporal lobe cortical thickness, and indicators of CVD such as infarcts, white matter hyperintensities, lacunes, and microbleeds, have all shown an association with progression to dementia.^{33,45,49} The knowledge that CVD markers may serve as prognostic indicators for further cognitive decline underlines the importance of managing vascular risk factors to slow the progression of MCI to dementia.^{41,50,51}

1.5 | Ginkgo biloba extract, EGb 761®

EGb 761® is a dry extract from the leaves of the *Ginkgo biloba* plant, derived through a proprietary process. Depending on local

regulatory frameworks across Asia, EGb 761® may be either classified as a drug, a supplement, or a phytopharmaceutical. This extract has increasingly been used over the past two decades for the symptomatic treatment of cognitive disorders, including AD with or without CVD.^{52–57} A recent comprehensive review reported that EGb 761® improved cognitive performance across the spectrum of age-associated cognitive disorders, from age-associated memory complaints through to AD and vascular dementia (VaD).³⁶

EGb 761® exhibits various beneficial properties, although its mechanism of action in cognitive disorders is not yet fully understood. Preclinical evidence suggests that EGb 761® has profound effects on mitochondrial function via several mechanisms, including potent antioxidant activity.³⁶ This agent has been shown to reduce oxidative cell damage through reducing mitochondrial production of reactive oxygen species, due to its high levels of antioxidants (flavonoids and terpenoids).^{36,58} EGb 761® also protects neurons from amyloid-beta (A β)-induced toxicity through inhibiting the formation of A β oligomers,^{36,59} and affects the insulin receptor by influencing acetylcholine reduction.^{36,60–62} Secondary to these important properties, EGb 761® appears to have profound effects on neuronal function, neuroplasticity, neuroregeneration, and neuroinflammation,^{36,60} and positively influences synaptic plasticity and brain functions that require high amounts of cellular energy.³⁶ Additionally, evidence suggests that EGb 761® increases cerebral blood flow and brain perfusion by decreasing cerebral blood viscosity, and protects cerebral blood vessels against processes involved in atherosclerosis.^{63–66} EGb 761® has also been shown to increase dopamine levels in the prefrontal cortex.⁶⁷

Thus, the known mechanisms of action of EGb 761® provide strong rationale for its use in age-related cognitive disorders.^{36,58,60–62}

1.6 | Rationale for this article

The ASian Clinical Expert group on Neurocognitive Disorders (ASCEND) consists of more than twenty members, primarily from the Asian region. The group first convened in 2017, and consists of experts from various specialties, including neurology, geriatrics, psychiatry, and pharmacy.

Following the first meeting, the ASCEND group published a set of evidence-based regional consensus recommendations on the use of EGb 761® in the treatment of dementia and MCI with or without CVD.⁵⁸ Among the core consensus statements published, the ASCEND Expert Group recommended the use of EGb 761® 240 mg/day as part of the treatment approach for AD ($\pm$ CVD), VaD, and mixed dementia, with or without NPS. It was further agreed that EGb 761® might be considered for use in patients with MCI (Class IIB recommendation; Level A evidence).⁵⁸ These recommendations are consistent with a number of current guidelines and consensus documents from around the world, including Asia, that support the use of EGb 761® for the treatment of MCI symptoms.^{58,68–72}

The purpose of this article is to expand upon these recommendations, with a specific focus on the role of EGb 761® in the management of MCI. The potential role of EGb 761® in slowing cognitive decline is also discussed.

2 | METHODS

The ASCEND Group reconvened in September 2019 to present and critically assess the current evidence on the general management of MCI, particularly with respect to the clinical efficacy and safety of EGb 761® as a treatment option for MCI. The preplanned output from the meeting was the construction of another regional consensus document to assist Asian countries in formulating strategies to improve the treatment and management of MCI.

Before the meeting, a survey was circulated to all ASCEND members to gather their expert opinions regarding MCI diagnosis and management in their respective clinical practices. In addition, a literature search was performed to identify primarily English language articles relevant to the use of EGb 761® in MCI, using MeSH terms and other keywords, including: EGb 761, *Ginkgo biloba* extract, mild cognitive impairment, MCI, cognitive dysfunction, memory disorders, subjective memory loss, dementia, neuropsychiatric symptoms, cerebrovascular disorders, and pathophysiology.

During the meeting, two didactic presentations from key opinion leaders summarized the diagnosis and burden of MCI, and the current evidence relating to both pharmacological and nonpharmacological management approaches, in terms of symptomatic improvement and stabilization of progression. The expert group used this information as the basis for discussion of pertinent topics in the context of their clinical expertise. A series of proposed consensus statements were subsequently formulated and discussed among the expert group via email, as part of the construction of the present article. All members reviewed the final manuscript and reached consensus on each statement presented herein.

3 | RESULTS

3.1 | General principles of MCI management

Ideally, goals of treatment for dementia—and indeed for MCI—are improvement of cognitive function and psychological and behavioral symptoms, stabilization or slowing of disease progression, improvement of quality of life (QoL), and alleviation of caregiver burden.¹⁹ As mixed pathology is common in MCI, a multidomain management approach that benefits both neurodegenerative and vascular pathology is a rational strategy.⁷³

Based on the literature and clinical experience, the ASCEND Expert Group recommends that clinicians first assess for reversible causes of subjective cognitive impairment (SCI), such as depression, medications, alcohol use disorders, or hearing loss, and

manage these appropriately.^{3,74} Validated neurocognitive and functional assessment tools should be used for the diagnosis and monitoring of MCI in individuals with persistent memory complaints.³ Other investigations may include a blood panel and brain imaging.^{21,75}

Second, it is important to mitigate any vascular and lifestyle risk factors. This approach has recently proven successful as an early intervention for dementia prevention and delay.^{76,77} To this end, recent recommendations from the WHO (2019)⁷⁴ and AAN³ include physical exercise, nutritional and weight loss interventions, tobacco cessation, and management of hypertension, diabetes mellitus, and dyslipidemia. The Finnish Geriatric Intervention Study to Prevent Cognitive Impairment and Disability (FINGER) study was a 2-year randomized trial of multidomain intervention in patients aged 60–77 years with cognition at or below the normative mean (although, not all patients had MCI, and the inclusion/exclusion criteria would have excluded some cases of MCI). The intervention cohort, which received interventions including good nutrition, physical exercise, vascular risk factor monitoring, and cognitive training, showed significant improvement in neuropsychological test battery scores per year, compared with a control cohort receiving regular health advice alone.⁷⁶

Other interventions which may contribute to cognitive function include positive social activity^{74,78–80} and sleep management.^{81,82}

3.2 | Pharmacological interventions

Symptomatic pharmacological treatment options for MCI are limited; at present, there are no FDA-approved treatments indicated specifically for MCI.³ While acetylcholinesterase inhibitors (AChEIs; eg, donepezil, rivastigmine, and galantamine) are used first-line in AD and AD+CVD in Asia,¹⁹ these have not shown robust ability to improve MCI symptoms in well-controlled randomized trials.^{83–86} Thus, the AAN guidelines for MCI state that clinicians may choose *not* to offer cholinesterase inhibitors (Level B evidence), and, if offered, they should first discuss with patients the lack of evidence (Level A).³

A number of other off-label treatments have been trialled.⁸⁷ Among them, EGb 761[®] is increasingly being used in the treatment of cognitive disorders,^{53,56,57} and the evidence supporting its efficacy in individuals with MCI is growing.

3.3 | Efficacy of EGb 761[®] in MCI

Based on evidence from randomized trials^{52,54,55} and meta-analyses,^{88–91} our first ASCEND consensus statement concluded that EGb 761[®] has an important role in current best practice for the

SCI and healthy volunteers	MCI	Prevention of dementia
Beck et al (2016) ✓ Improved cognitive flexibility in SCI Kaschel et al (2011) ✓ Improved quantity of recall Mix and Crews (2002) ✓ Improved delayed free recall, delayed recognition, and Faces II memory scale	GIMCIPlus: Gavrilova et al (2014) ✓ Improved NPI composite score ✓ Improved cognitive performance ✓ Improved anxiety Grass-Kapanke et al (2017) ✓ Improved visual and verbal memory, free recall, and recognition ✓ Improved attention and concentration Zhao et al (2012) ✓ Improved delayed free recall, delayed recognition, and Faces II memory scale	GEM: DeKosky et al (2008) ✓ Marginally significant dementia prevention in patients with vascular involvement GuidAge: Scherrer et al (2015) ✓ Post-hoc analysis demonstrated a late effect: significantly lower risk of conversion to dementia in patients receiving EGb 761[®] for ≥5 years EPIDOS: Andrieu et al (2003) ✓ Cerebral vasotherapeutics (e.g. EGb 761[®]) showed a preventative effect with ≥2 years of treatment Paquid: Amieva et al (2013) ✓ EGb 761[®] protected against cognitive decline

MCI, mild cognitive impairment; SCI, subjective cognitive impairment

FIGURE 1 Key trials of EGb 761[®] indicating cognitive benefits in healthy individuals and MCI patients, and effects on dementia prevention [Colour figure can be viewed at wileyonlinelibrary.com]

symptomatic treatment of AD ($\pm$ CVD) and VaD.⁵⁸ Further, based on clinical trial data⁹²⁻⁹⁵ and pathomechanistic reasoning, we concluded that EGb 761® may also be considered for use in patients with MCI, including those with evidence of CVD (class of recommendation, IIB; level of evidence, A).⁵⁸

EGb 761® is currently the only pharmacological agent recommended for the symptomatic treatment of MCI in the existing guidelines and consensus publications.⁷³ In line with our own consensus,⁵⁸ China's diagnosis and treatment guidelines state that EGb 761® is effective in the treatment of AD, multi-infarct dementia, and MCI.⁷⁰ Outside Asia, Czech consensus guidelines recommend EGb 761® in patients with incident dementia/MCI with a Mini-Mental State Exam score of >25 ;⁷² and a Swiss Expert Recommendation includes initiating EGb 761® treatment during the MCI stage.⁷¹ A Spanish consensus document states that EGb 761® is the only approved drug treatment for MCI.⁹⁶ In addition, the European Medicines Agency (EMA) assessment report (2015) recommends EGb 761® for improvement of (age-associated) cognitive decline and quality of life in patients with mild dementia.⁶⁸

Four key trials have reported benefit from EGb 761® in patients with MCI (Figure 1 and Table 1). The double-blind, randomized GIMCIPlus trial⁹³ enrolled 160 outpatients aged ≥ 55 years with amnesic MCI with NPS, diagnosed in accordance with the International Working Group (2004).²⁴ This study population also met the DSM-5 diagnostic criteria for mild neurocognitive disorder when retrospectively applied.⁹⁷ Patients were randomly assigned to receive EGb 761® 240 mg/day or placebo, and NPS were assessed after 12 and 24 weeks of treatment using the 12-item Neuropsychiatric Inventory (NPI). The Clinical Global Impression (CGI) scale was used for global assessment. EGb 761® significantly improved NPI composite scores versus placebo (mean, -7.0 vs. -5.5 , respectively; $p = 0.001$), including a significant improvement in anxiety and a trend toward improved depression. NPI improvement by ≥ 4 points was achieved by 79% vs. 56% of patients ($p = 0.002$). EGb 761®-treated patients also showed significantly improved cognitive performance assessed by the Trail-Making Test, particularly visuomotor speed and executive functioning, compared with those receiving placebo.⁹³

Additionally, a 2011 trial published by Grass-Kapanke et al⁹⁵ included 300 patients aged 45–65 years with very mild MCI, defined as cognitive complaints and low functioning in at least one of the cognitive tests. The patient population met the later-introduced DSM-5 diagnostic criteria for mild neurocognitive disorder.⁹⁷ Patients were randomly assigned to receive EGb 761® 240 mg/day or placebo once daily for 12 weeks. Patients receiving EGb 761® showed significant improvement in both visual and prospective verbal memory, free recall, and recognition, under both immediate and delayed conditions. EGb 761® also improved attention and concentration outcomes, and trended in favor of improved facial recognition and perceived physical health. Cognitive benefits were more pronounced among subjects with poorer baseline memory function.⁹⁵

A multicenter trial by Zhao et al⁹⁴ included 120 patients aged 60–85 years with MCI including episodic memory complaints. Patients were randomized 1:1 to receive EGb 761® or general

healthcare alone for 6 months. Only the EGb 761® treatment group achieved significant improvement from baseline in logical memory and picture recognition. After 6 months, the clinical memory scale (picture recognition) and logical memory tests were significantly improved from baseline with EGb 761® ($p < 0.01$ and $p < 0.05$, respectively), while health care alone showed no significant improvement in these endpoints. In a comparison of the two approaches, clinical and logical memory were significantly improved with EGb 761® versus health care alone ($p < 0.05$ for both).

Furthermore, a placebo-controlled study was conducted in 61 elderly individuals with subjective memory impairment. Participants were randomized to receive EGb 761® 240 mg/day or matching placebo for 8 weeks. EGb 761® improved cognitive flexibility without brain activation changes, suggesting improved processing efficiency potentially resulting from mild enhancement of prefrontal dopaminergic function.⁹²

3.4 | Studies of EGb 761® in cognitively healthy volunteers

In addition, two randomized, placebo-controlled studies have shown encouraging results in healthy subjects (Figure 1 and Table 1). A 2002 study by Mix and Crews reported that EGb 761® 180 mg/day significantly improved delayed free recall ($p < 0.04$), delayed recognition ($p < 0.01$), and the Faces II memory scale ($p < 0.0025$) compared with placebo after 6 weeks of treatment in cognitively intact individuals aged ≥ 60 years.⁹⁸ A decade later, Kaschel et al⁹⁹ reported that cognitively healthy individuals aged 45–56 years who received EGb 761® showed significant improvement in the high-demand prospective memory task of “quantity of recall” (ie, the number of correctly recalled appointments) after 6 weeks compared with placebo, both in terms of immediate recall ($p = 0.038$) and delayed recall ($p = 0.008$).

3.5 | Trials of EGb 761® in delaying dementia

Given that individuals with MCI progress to clinically evident AD at an accelerated rate compared with healthy individuals,^{3,6-9} diagnosis of MCI has been recognized as an important opportunity to attempt preventative intervention.^{2,3,22}

Two multicenter, randomized, double-blind, placebo-controlled trials (the Ginkgo Evaluation of Memory [GEM]¹⁰⁰ and GuidAge¹⁰¹ studies) evaluated the use of EGb 761® in the prevention of dementia (Figure 1 and Table 1). While neither study demonstrated a clear effect in prevention of dementia in the initial analyses, both results should be interpreted in the context of the specific study limitations.

In the GEM study, of the 3069 volunteers, 482 (16%) had MCI and 2587 (84%) had normal cognition. At a median follow-up of 6.1 years, 18% of patients receiving EGb 761® and 16% of those receiving placebo developed dementia. The hazard ratio (HR) for all-cause dementia was 1.12 (95% CI, 0.94–1.33), and for AD, the

TABLE 1 Summary of trials of EGb 761[®] in patients with MCI and healthy subjects, and dementia prevention

Trial	Study design	N	Population	Key outcomes
EGb 761[®] in patients with MCI				
GIMCIPlus study Gavrilova et al, 2014 ⁹³	Randomized to EGb 761 [®] (240 mg/day) or placebo for 24 weeks	160	Patients aged ≥55 years with amnesic MCI with NPS	- EGb 761[®] significantly improved NPI composite scores versus placebo ($p = 0.001$). ≥4-point NPI improvement achieved by 79% vs. 56% of patients ($p = 0.002$). - EGb 761[®] associated with improved cognitive performance, particularly visuomotor speed and executive functioning scores ($p < 0.05$), vs. placebo - Significant improvement in anxiety ($p = 0.027$) and a trend toward improved depression ($p = 0.066$) with EGb 761[®].
Grass-Kapanke et al, 2011 ⁹⁵	Randomized to EGb 761 [®] (240 mg/day) or placebo for 12 weeks	300	Patients aged 45–65 years with vMCI	- EGb 761[®] significantly improved visual memory (Faces I, $p = 0.04$), and free recall/recognition under both immediate ($p = 0.06$) and delayed conditions ($p = 0.03$). - EGb 761[®] improved attention ($p = 0.21$) and concentration ($p = 0.01$) outcomes. - Cognitive effects were more pronounced and consistent in subjects with lower baseline memory function. - Improved perceived physical health ($p = 0.04$) and a trend in favor of improved perceived mental health ($p = 0.15$) with EGb 761[®].
Zhao et al, 2012 ⁹⁴	Randomized to EGb 761 [®] or general healthcare alone for 6 months	120	Patients aged 60–85 years with MCI	- Only the EGb 761[®] treatment group achieved significant improvement from baseline in logical memory and picture recognition. - Clinical and logical memory tests were significantly improved with EGb 761[®] versus health care alone.
EGb 761[®] in patients with SCI and cognitively healthy subjects				
Beck et al, 2016 ⁹²	Randomized to EGb 761 [®] (240 mg/day) or placebo for 8 weeks	61	Elderly individuals with subjective memory complaints	Improved cognitive flexibility (task switching, $p = 0.018$) without brain activation changes in patients receiving EGb 761[®], suggesting improved processing efficiency.
Kaschel et al, 2011 ⁹⁹	Randomized to EGb 761 [®] (240 mg/day) or placebo for 6 weeks	188	Healthy subjects aged 45–56 years	- EGb 761[®] showed significant improvement in the high-demand prospective memory task of quantity of recall (number of correctly recalled appointments) compared with those receiving placebo, under both immediate ($p = 0.038$) and delayed conditions ($p = 0.008$). - No superiority in the less-demanding driving route memory test.
Mix and Crews, 2002 ⁹⁸	Randomized to EGb 761 [®] (180 mg/day) or placebo for 6 weeks	262	Healthy subjects aged ≥60 years	EGb 761[®] significantly improved delayed free recall ($p < 0.04$), delayed recognition ($p < 0.01$), and the Faces II memory scale ($p < 0.025$), compared with placebo.
EGb 761[®] for the prevention of dementia				
GEM study; DeKosky et al, 2008 ¹⁰⁰	Randomized to EGb 761 [®] 120 mg BID or placebo. Median follow-up, 6.1 years	3069	Mean age, 79 years (482 had MCI at baseline; 2587 had normal cognition)	18% of patients receiving EGb 761[®] and 16% receiving placebo developed dementia (HR, 1.12; 95% CI, 0.94–1.33). - HR for the VaD subgroup was marginally significant (HR, 0.41; 95% CI, 0.17–0.98; $p = 0.05$).

(Continues)

TABLE 1 (Continued)

Trial	Study design	N	Population	Key outcomes
GuidAge study; Vellas et al, 2012 ¹⁰¹ ; Scherrer et al, 2015 ¹⁰²	Randomized to EGb 761 [®] 240 mg/day or placebo for 5 years	2854	Patients aged >70 years with memory complaints	• 4% of patients receiving EGb 761[®] (1.2 cases/100 person-years) and 5% receiving placebo (1.4 cases/100 person-years) developed AD (HR, 0.84; 95% CI, 0.60–1.18; $p = 0.306$). • Significant preventive benefit in patients receiving EGb 761[®] for ≥ 5 years ($p = 0.034$). • Statistical testing for late effect showed a significantly lower risk of progression to dementia with EGb 761[®] versus placebo ($p = 0.0054$)
Andrieu et al, 2003 ¹⁰³	Paired, case-control nested study from EPIDOS trial; 7-year follow-up	414	Community-dwelling women aged >75 years: 69 with AD dementia + 345 with normal cognitive function	• Among individuals who developed AD dementia, significantly fewer had received EGb 761[®] or other cerebral/peripheral vasootherapeutics for ≥ 2 years, vs. those with no AD ($p = 0.018$). • For EGb 761[®] only, trend in favor of AD prevention ($p = 0.22$)
Amieva et al, 2013 ¹⁰⁵	Data from prospective PAQUID study (20-year follow-up)	3612	Nondemented individuals aged ≥ 65 years	• EGb 761[®] protected against cognitive (MMSE) decline over 20 years ($p < 0.0001$) versus no treatment. • In contrast, piracetam treatment showed poorer cognitive decline vs. no treatment.

Abbreviations: AD, Alzheimer's disease; HR, hazard ratio; MCI, mild cognitive impairment; MMSE, Mini-Mental State Examination; NPI, Neuropsychiatric Inventory; SCI, subjective cognitive impairment; TID, three times daily; VaD, vascular dementia; vMCI, very mild MCI.

^aDosage was stated as 19.2 mg TID, which is assumed to refer to the dose of flavone glycosides in a therapeutic dose of EGb 761[®].

HR was 1.16 (95% CI, 0.97–1.39).¹⁰⁰ However, these data could have been confounded by several factors, including the advanced age of the study population (mean, 79 years), the lower incidence of VaD in the EGb 761[®] group compared with the placebo group (7 vs. 17 per 100 person-years; HR, 0.41; $p = 0.05$), and the decreasing level of compliance over the course of the study (only 60% at 6 years). The authors also acknowledged that, given the often lengthy delay from initial brain changes to the diagnosis of clinical dementia, the effect of EGb 761[®] may take many more years of follow-up to manifest.¹⁰⁰

In the randomized, placebo-controlled GuidAge study, patients aged >70 years with memory complaints received either EGb 761[®] 240 mg/day or placebo for five years. Sixty-one of 1406 patients receiving EGb 761[®] (1.2 cases/100 person-years) and 73 of 1414 receiving placebo (1.4 cases/100 person-years) were diagnosed with incident AD during follow-up (HR, 0.84; 95% CI, 0.60–1.18; $p = 0.306$).¹⁰¹ While a significant difference between the groups was not shown in the initial analysis, which applied a test based on the assumption of proportional hazards, the risk of AD was not constant over time. Results from a preplanned subgroup analysis showed significant benefit in those patients exposed to EGb 761[®] for at least four years (rate of progression to AD, 1.6% vs. 3.0%, respectively; $p = 0.03$). Subsequently, a *post hoc* analysis of the GuidAge study was performed, which demonstrated a possible late effect of EGb 761[®].¹⁰² This analysis applied additional statistical testing to explicitly test the hypothesis of a late treatment effect. In a protocol-specified subgroup analysis, a significant treatment-by-time interaction for AD incidence was demonstrated; and a subsequent analysis using the Fleming-Harrington test for late effect showed a significantly

lower risk of progression to dementia with EGb 761[®] versus placebo ($p = 0.0054$).¹⁰²

Other data have also indicated a possible role for EGb 761[®] in delaying dementia onset. For example, the EPIDOS nested case-control study evaluated community-dwelling women aged >75 years, among whom 69 developed AD dementia, and 345 paired women retained normal cognitive function. Among those that developed dementia, significantly fewer had received EGb 761[®] or other peripheral vasootherapeutics for at least 2 years (OR, 0.31; 95% CI, 0.12–0.82; $p = 0.018$), compared with the group who did not develop AD dementia, suggesting a possible preventative effect.¹⁰³ The benefits of taking EGb 761[®] were evident after one year of treatment.¹⁰⁴

Further, in a retrospective 20-year follow-up analysis of the PAQUID study in 3612 nondemented individuals aged ≥ 65 years, EGb 761[®] appeared to protect against cognitive decline in the long term. Mini-Mental State Examination data showed strongly improved cognitive outcomes with EGb 761[®] versus no treatment ($p < 0.0001$). While the EGb 761[®] group declined less rapidly than the “no treatment” group, patients who had received piracetam declined more rapidly, suggesting a specific medication effect of EGb 761[®].¹⁰⁵

It should be emphasized that not all studies have demonstrated a protective effect with EGb 761[®],¹⁰⁶ and the *post hoc* analyses described above were intended to be hypothesis-generating exercises. The retrospectively applied statistical tests do, however, justify further prospective, well-controlled, long-term studies of EGb 761[®] in patients with early cognitive decline and MCI, to more fully establish the role of this agent in delaying or preventing dementia.

TABLE 2 Summary of ASCEND expert consensus statements

Diagnosis of MCI	
It is recommended that clinicians assess for MCI using validated tools, including testing for functional assessment (ADL).	Level of evidence C (expert opinion)
Biomarker assessments, including imaging, may help confirm a diagnosis of MCI, and establish the presence of CVD (vascular pathology).	Class of recommendation IIa Level of evidence B
As far as possible, we recommend the use of consistent MCI diagnostic criteria in clinical trials, to enable more robust conclusions.	Level of evidence C (expert opinion)
General management principles	
It is important to identify MCI patients who are at higher risk for dementia, to ensure early intervention.	Level of evidence C (expert opinion)
Clinicians should first assess for reversible causes of MCI impairment, and treat and follow-up accordingly.	Level of evidence C (expert opinion)
A multidomain intervention strategy is useful in MCI to benefit both neurodegenerative and vascular pathologies. Such a strategy should at least include physical exercise, smoking cessation, management of hypertension and diabetes, cognitive training, and psychosocial interventions.	Class of recommendation I Level of evidence B
Symptomatic MCI treatment with EGb 761®	
There is a lack of robust evidence supporting the use of AChEI in improving MCI symptoms.	Class of recommendation III Level of recommendation A
EGb 761® has demonstrated improvement in MCI symptoms in at least four randomized trials, and is the only pharmacological agent recommended in existing guidelines for the symptomatic treatment of MCI.	Class of recommendation I Level of evidence A
It is clinically appropriate to incorporate EGb 761® as part of the multidomain intervention for MCI.	Class of recommendation IIB Level of evidence A
EGb 761® may improve cognitive performance in MCI patients.	Class of recommendation I Level of evidence A
EGb 761® may improve NPS	Class of recommendation IIB Level of evidence B
Due to its beneficial effects on cerebrovascular blood flow, it is reasonable to expect that EGb 761® may benefit MCI patients with CVD.	Level of evidence C (expert opinion)
Role of EGb 761® in delaying dementia	
Given that individuals with MCI progress to clinically evident AD at an accelerated rate compared with healthy individuals, diagnosis of MCI represents an important opportunity for initiating therapy.	Level of evidence C (expert opinion)
Based on <i>post hoc</i> evidence from two randomized studies, EGb 761® may help delay progression of MCI to dementia in some individuals.	Class of recommendation IIb Level of evidence C
There is justification for well-controlled, long-term prospective studies of EGb 761® in patients with early cognitive decline and MCI, to more fully establish the role of this agent in delaying or preventing dementia.	Level of evidence C (expert opinion)
EGb 761® Safety in MCI	
EGb 761® has a favorable risk-benefit profile.	Level of evidence A
No evidence of an increased risk of bleeding has been demonstrated with EGb 761®.	Level of evidence A
No significant interaction of EGb 761® with concomitant anticoagulants or antiplatelet agents has been demonstrated.	Level of evidence B

KEY:**Class of recommendation**

- Class I: Evidence and/or general agreement that a given treatment or procedure is beneficial, useful, effective (is recommended/is indicated)
- Class IIa: Weight of evidence/opinion is in favor of usefulness/efficacy (is reasonable to consider)
- Class IIb: Usefulness/efficacy is less well established by evidence/opinion (may be reasonable to consider)
- Class III: Evidence or general agreement that the given treatment or procedure is not useful/effective, or in some cases may be harmful (is not recommended)

Level of evidence

- A: Data derived from multiple randomized, placebo-controlled clinical trials, or meta-analyses
- B: Data derived from a single randomized clinical trial or large nonrandomized studies
- C: Consensus of opinion of experts and/or case reports, small studies, retrospective studies

Abbreviations: AChEI, acetylcholinesterase inhibitors; ADL, activities of daily living; CVD, cerebrovascular disease; MCI, mild cognitive impairment; NPS, neuropsychiatric symptoms.

3.6 | EGb 761[®] safety

EGb 761[®] has demonstrated a positive risk-benefit profile.^{52,88} Studies and meta-analyses have consistently shown no significant increase in overall risk of adverse events with EGb 761[®] versus placebo.^{52,54–56,89,93,95,107} Indeed, one meta-analysis showed a numerically lower rate of discontinuation in EGb 761[®]-treated patients versus those receiving placebo.⁸⁹

Historically, some concern has been raised regarding increased bleeding risk in patients treated with EGb 761[®]. This issue was discussed in detail in our previous consensus publication.⁵⁸ Briefly, the data from published trials and meta-analyses show no evidence of an increased risk of bleeding with EGb 761[®],^{107,108} nor any clinically important changes in bleeding time, coagulation parameters, or platelet aggregation in doses up to 480 mg/day.^{108–111} There also appears to be no additive effect of EGb 761[®] with aspirin,¹¹² and EGb 761[®] does not change the pharmacokinetic or pharmacodynamic properties of simultaneously administered warfarin.¹¹³

4 | CONCLUSIONS AND EXPERT CONSENSUS

Key studies that evaluated EGb 761[®] in MCI patients, individuals with SCI, and cognitively healthy individuals, are summarized in Table 1. In Table 2, we summarize the ASCEND group's expert consensus recommendations regarding the use of EGb 761[®] in the management of MCI with or without CVD and NPS, along with other statements on clinically relevant issues. Consensus statements presented herein are primarily based on results from the key randomized trials discussed above, in tandem with clinical expertise.

Among the available anti-dementia drugs and supplements, EGb 761[®] is currently the only agent to have demonstrated positive effects in randomized trials in MCI patients.^{58,73} EGb 761[®] has been shown to enhance cognitive function and efficiency in patients with clinically diagnosed MCI,^{92–95} particularly in those with greater severity of disease at baseline.⁹⁵ For amnesic MCI patients with NPS, EGb 761[®] has been shown to improve cognitive function and NPS.⁹³ Furthermore, based on the known effects of EGb 761[®] in promoting brain circulation, protecting against oxidative stress, and providing neuroprotective effects,⁵⁸ it is rational to expect that EGb 761[®] may benefit MCI patients with concomitant CVD, but this hypothesis needs to be verified in further clinical trials. This knowledge may be particularly important among Asian populations who appear to have a higher likelihood of vascular involvement.^{41,42}

The higher risk of developing dementia after an MCI diagnosis represents a strong argument to initiate treatment at this earlier stage of the disease continuum. The evidence suggests a possible role for EGb 761[®] in delaying the progression of cognitive decline and reducing the risk of progression to dementia in some patients,^{93,95} but further studies are warranted. The risk of progression from MCI to dementia may be further reduced by eliminating

risk factors, including vascular risk factors. Future studies should attempt to clarify the impact of early lifestyle interventions with or without EGb 761[®].

Additional data are desirable to further inform clinical practice and select appropriate patients for EGb 761[®] treatment. Longitudinal studies with imaging investigations and biomarker analyses would be helpful, to assess the efficacy of EGb 761[®] in subgroups of MCI patients with differing underlying pathologies, including those with CVD or amyloid plaques. The role of EGb 761[®] in MCI patients with mild behavioral impairment is also currently not clarified; nor is there any clear information as to the differential benefit of EGb 761[®] in amnesic versus nonamnesic MCI. Further targeted research in these areas will be important future pursuits. We were able to locate only one small randomized trial of EGb 761[®] in subjective memory impairment. Given that individuals with SCI are understood to be at higher risk for future cognitive decline,^{114,115} additional evidence investigating earlier EGb 761[®] initiation before clinically diagnosable MCI or dementia would be highly informative. In addition, data specific to Asian patients are lacking; replication in Asian populations of RCTs previously conducted in Western populations would provide valuable comparisons between populations.

More information is also needed on how and when to initiate EGb 761[®] treatment, and for how long. Subanalysis of the existing EGb 761[®] efficacy data stratified by patient body weight would clarify whether the 240 mg daily dose of EGb 761[®] is effective independent of weight. Furthermore, longer-term EGb 761[®] data will be highly valuable, given that clinically diagnosed MCI is a chronic condition, often with underlying CVD or other pathologies which take time to manifest improvement. The available randomized trials that assessed symptom improvement in MCI or SCI followed patients over only 2–6 months of treatment. Study of EGb 761[®] efficacy by treatment duration would be a valuable addition to the existing body of data, to help inform clinicians as to the optimum duration of therapy, and whether ongoing improvement, or a plateau in benefit, might be expected over the long term. There is also a lack of multidomain trials evaluating the benefits of combining EGb 761[®] in combination with nonpharmacological strategies such as cognitive training, physical activity, nutritional interventions, and cardiovascular risk factor management.

Summing up the results presented herein, the ASCEND2 group concluded that, based on the available data, the *Ginkgo biloba* extract, EGb 761[®] has a role in the multidomain intervention strategy for MCI management. Our recommendations are intended to further contribute to the improvement of clinical practice and patient outcomes within Asia. Healthcare professionals within the region are encouraged to consider these recommendations when formulating appropriate strategies for the treatment and management of MCI, with a view to improving patient outcomes.

ACKNOWLEDGEMENT

Medical writing and editorial assistance were provided by Geraldine K Skidmore of PharmaMED LLC.

CONFLICT OF INTEREST

All authors participated in the ASCEND expert meeting from which this document was drafted, and contributed to or critically reviewed the manuscript. The final manuscript was approved by all authors prior to publication. The following authors declare no conflict of interest: Yuda Turana, Saedon Nor'izzati, Christopher Chen, Narayanaswamy Venketasubramanian, Young Chul Youn, Harjot Singh, Siti Setiati, SangYun Kim, Seol-Heui Han, Ralf Ihl, Jianping Jia, Trang Tong Mai, and Fee Mann Yong. During the last three years: Nagaendran Kandiah has received grant funding and honorarium payments from Novartis Pharmaceuticals, Eisai Pharmaceuticals, Lundbeck, Schwabe Pharma. Chan Yee Fai has received honoraria and CME sponsorship from DCH Auriga, Eisai, Johnson & Johnson, Lundbeck and Novartis as well as involvement in Industry Sponsored Research. Encarnita Ampil has received honoraria from the Lundbeck, Menarini, Medichem, Torrent, Novartis, Kusum Pharma for CME sponsorship, lecture fees and/or module development. D. Darwin A. Dasig. MD has received honoraria, CME sponsorship, lecture fees and/or speaker fees from Hi-Eisai, Lundbeck, Medichem, and Menarini. Ng Li-Ling has received honoraria from Novartis, Eisai, MIMS, Schwabe Pharma, and Danone Dumex, and was involved as a consultant, speaker, or in advisory boards for Novartis, Eisai, MIMS, Schwabe Pharma, and Danone Dumex. Paulus Anam Ong has received CME lecture fees from Lundbeck Indonesia, and a grant from Universitas Padjadjaran Bandung Indonesia. Jacqueline Dominguez has received honoraria and CME sponsorship from HI-Eisai Pharmaceutical Phil., Inc, Menarini Inc Philippines, and Schwabe Pharma; was involved as a consultant, speaker, or in advisory boards for HI-Eisai Pharmaceutical Phil., Inc, and Menarini Inc Philippines, and EVER Pharma; and received a research grant from the Philippine Institute for Traditional and Alternative Healthcare-Department of Health. Nguyen Dinh Toan has received honoraria from Eisai pharmaceutical company. Panita Limpawattana has received CME sponsorship from A. Menarini (Thailand) Limited. Chuthamanee Suthisisang has received CME sponsorship from A. Menarini (Thailand) Limited. Vorapun Senanarong has received lecture fees from Eisai Thailand, Lundbeck Thailand; was involved as a consultant, speaker, or in advisory boards with Menarini Thailand; and has received a research grant from the Faculty of Medicine in Siriraj Hospital, Thailand Research Fund, and SCB Corporate Social Responsibility (CSR) project.

DATA AVAILABILITY STATEMENT

The data that support the findings of this study are available from the corresponding author upon reasonable request.

ORCID

Nagaendran Kandiah  <https://orcid.org/0000-0001-9244-4298>

REFERENCES

1. Alzheimer's Disease International. *Dementia Statistics*. Alzheimer's Disease International. Accessed 6 June, 2020.
2. Petersen RC, Doody R, Kurz A, et al. Current concepts in mild cognitive impairment. *Arch Neurol*. 2001;58:1985–1992.
3. Petersen RC, Lopez O, Armstrong MJ, et al. Practice guideline update summary: mild cognitive impairment: report of the guideline development, dissemination, and implementation subcommittee of the American Academy of Neurology. *Neurology*. 2018;90:126–135.
4. DeCarli C. Mild cognitive impairment: prevalence, prognosis, aetiology, and treatment. *Lancet Neurol*. 2003;2:15–21.
5. Foster NL, Bondi MW, Das R, et al. Quality improvement in neurology: mild cognitive impairment quality measurement set. *Neurology*. 2019;93:705–713.
6. Albert MS, DeKosky ST, Dickson D, et al. The diagnosis of mild cognitive impairment due to Alzheimer's disease: recommendations from the National Institute on Aging-Alzheimer's Association workgroups on diagnostic guidelines for Alzheimer's disease. *Alzheimers Dement*. 2011;7:270–279.
7. Ganguli M, Fu B, Snitz BE, Hughes TF, Chang CC. Mild cognitive impairment: incidence and vascular risk factors in a population-based cohort. *Neurology*. 2013;80:2112–2120.
8. Gauthier S, Reisberg B, Zaudig M, et al. Mild cognitive impairment. *Lancet*. 2006;367:1262–1270.
9. Feldman HH, Jacova C. Mild cognitive impairment. *Am J Geriatr Psychiatry*. 2005;13:645–655.
10. Busse A, Bischof J, Riedel-Heller SG, Angermeyer MC. Mild cognitive impairment: prevalence and incidence according to different diagnostic criteria. Results of the Leipzig Longitudinal Study of the Aged (LEILA75+). *Br J Psychiatry*. 2003;182:449–454.
11. Sachdev PS, Lipnicki DM, Kochan NA, et al. The prevalence of mild cognitive impairment in diverse geographical and ethno-cultural regions: the COSMIC Collaboration. *PLoS One*. 2015;10:e0142388.
12. Prince M, Bryce R, Albanese E, Wimo A, Ribeiro W, Ferri CP. The global prevalence of dementia: a systematic review and metaanalysis. *Alzheimers Dement*. 2013;9:63–75 e2.
13. Hilal S, Ikram MK, Saini M, et al. Prevalence of cognitive impairment in Chinese: epidemiology of dementia in Singapore study. *J Neurol Neurosurg Psychiatry*. 2013;84:686–692.
14. Rao D, Luo X, Tang M, et al. Prevalence of mild cognitive impairment and its subtypes in community-dwelling residents aged 65 years or older in Guangzhou, China. *Arch Gerontol Geriatr*. 2018;75:70–75.
15. Sasaki M, Kodama C, Hidaka S, et al. Prevalence of four subtypes of mild cognitive impairment and APOE in a Japanese community. *Int J Geriatr Psychiatry*. 2009;24:1119–1126.
16. Ma F, Wu T, Zhao J, et al. Prevalence of mild cognitive impairment and its subtypes among Chinese older adults: role of vascular risk factors. *Dement Geriatr Cogn Disord*. 2016;41:261–272.
17. Jia J, Zhou A, Wei C, et al. The prevalence of mild cognitive impairment and its etiological subtypes in elderly Chinese. *Alzheimers Dement*. 2014;10:439–447.
18. Xue J, Li J, Liang J, Chen S. The prevalence of mild cognitive impairment in China: a systematic review. *Aging Dis*. 2018;9:706–715.
19. Chen C, Homma A, Mok VC, et al. Alzheimer's disease with cerebrovascular disease: current status in the Asia-Pacific region. *J Intern Med*. 2016;280:359–374.
20. Catindig JA, Venketasubramanian N, Ikram MK, Chen C. Epidemiology of dementia in Asia: insights on prevalence, trends and novel risk factors. *J Neurol Sci*. 2012;321:11–16.
21. Petersen RC. Clinical practice. Mild cognitive impairment. *N Engl J Med*. 2011;364:2227–2234.
22. Hanninen T, Hallikainen M, Tuomainen S, Vanhanen M, Soininen H. Prevalence of mild cognitive impairment: a population-based study in elderly subjects. *Acta Neurol Scand*. 2002;106:148–154.

23. Jekel K, Damian M, Wattmo C, et al. Mild cognitive impairment and deficits in instrumental activities of daily living: a systematic review. *Alzheimers Res Ther.* 2015;7:17.
24. Winblad B, Palmer K, Kivipelto M, et al. Mild cognitive impairment—beyond controversies, towards a consensus: report of the International Working Group on Mild Cognitive Impairment. *J Intern Med.* 2004;256:240–246.
25. Lyketsos CG, Lopez O, Jones B, Fitzpatrick AL, Breitner J, DeKosky S. Prevalence of neuropsychiatric symptoms in dementia and mild cognitive impairment: results from the cardiovascular health study. *JAMA.* 2002;288:1475–1483.
26. Yatawara C, Hiu S, Tan L, Kandiah N. Neuropsychiatric symptoms in South-East Asian patients with mild cognitive impairment and dementia: prevalence, subtypes, and risk factors. *Int J Geriatr Psychiatry.* 2018;33:122–130.
27. Monastero R, Mangialasche F, Camarda C, Ercolani S, Camarda R. A systematic review of neuropsychiatric symptoms in mild cognitive impairment. *J Alzheimers Dis.* 2009;18:11–30.
28. Geda YE, Roberts RO, Knopman DS, et al. Prevalence of neuropsychiatric symptoms in mild cognitive impairment and normal cognitive aging: population-based study. *Arch Gen Psychiatry.* 2008;65:1193–1198.
29. Ryan KA, Weldon A, Persad C, Heidebrink JL, Barbas N, Giordani B. Neuropsychiatric symptoms and executive functioning in patients with mild cognitive impairment: relationship to caregiver burden. *Dement Geriatr Cogn Disord.* 2012;34:206–215.
30. Cooper C, Sommerlad A, Lyketsos CG, Livingston G. Modifiable predictors of dementia in mild cognitive impairment: a systematic review and meta-analysis. *Am J Psychiatry.* 2015;172:323–334.
31. Edwards ER, Spira AP, Barnes DE, Yaffe K. Neuropsychiatric symptoms in mild cognitive impairment: differences by subtype and progression to dementia. *Int J Geriatr Psychiatry.* 2009;24:716–722.
32. Rosenberg PB, Mielke MM, Appleby BS, Oh ES, Geda YE, Lyketsos CG. The association of neuropsychiatric symptoms in MCI with incident dementia and Alzheimer disease. *Am J Geriatr Psychiatry.* 2013;21:685–695.
33. DeCarli C, Mungas D, Harvey D, et al. Memory impairment, but not cerebrovascular disease, predicts progression of MCI to dementia. *Neurology.* 2004;63:220–227.
34. Morris JC, Price JL. Pathologic correlates of nondemented aging, mild cognitive impairment, and early-stage Alzheimer's disease. *J Mol Neurosci.* 2001;17:101–118.
35. Price JL, Morris JC. Tangles and plaques in nondemented aging and "preclinical" Alzheimer's disease. *Ann Neurol.* 1999;45:358–368.
36. Muller WE, Eckert A, Eckert GP, et al. Therapeutic efficacy of the Ginkgo special extract EGb761(R) within the framework of the mitochondrial cascade hypothesis of Alzheimer's disease. *World J Biol Psychiatry.* 2019;20(3):173–189.
37. Kapogiannis D, Mattson MP. Disrupted energy metabolism and neuronal circuit dysfunction in cognitive impairment and Alzheimer's disease. *Lancet Neurol.* 2011;10:187–198.
38. Kapasi A, DeCarli C, Schneider JA. Impact of multiple pathologies on the threshold for clinically overt dementia. *Acta Neuropathol.* 2017;134:171–186.
39. Staekenborg SS, Koedam EL, Henneman WJ, et al. Progression of mild cognitive impairment to dementia: contribution of cerebrovascular disease compared with medial temporal lobe atrophy. *Stroke.* 2009;40:1269–1274.
40. Sachdev P, Kalaria R, O'Brien J, et al. Diagnostic criteria for vascular cognitive disorders: a VASCOG statement. *Alzheimer Dis Assoc Disord.* 2014;28:206–218.
41. Kandiah N, Chander RJ, Ng A, Wen MC, Cenina AR, Assam PN. Association between white matter hyperintensity and medial temporal atrophy at various stages of Alzheimer's disease. *Eur J Neurol.* 2015;22:150–155.
42. Desmond DW. Vascular dementia. *Clin Neuroscience Res.* 2004;3:437–448.
43. Ward A, Tardiff S, Dye C, Arrighi HM. Rate of conversion from prodromal Alzheimer's disease to Alzheimer's dementia: a systematic review of the literature. *Dement Geriatr Cogn Dis Extra.* 2013;3:320–332.
44. Satizabal CL, Beiser AS, Chouraki V, Chene G, Dufouil C, Seshadri S. Incidence of dementia over three decades in the Framingham Heart Study. *N Engl J Med.* 2016;374:523–532.
45. Kantarci K, Weigand SD, Przybelski SA, et al. Risk of dementia in MCI: combined effect of cerebrovascular disease, volumetric MRI, and 1H MRS. *Neurology.* 2009;72:1519–1525.
46. Kaduszkiewicz H, Eisele M, Wiese B, et al. Prognosis of mild cognitive impairment in general practice: results of the German AgeCoDe study. *Ann Fam Med.* 2014;12:158–165.
47. Ellis KA, Szeoke C, Bush AI, et al. Rates of diagnostic transition and cognitive change at 18-month follow-up among 1,112 participants in the Australian Imaging, Biomarkers and Lifestyle Flagship Study of Ageing (AIBL). *Int Psychogeriatr.* 2014;26:543–554.
48. Roberts RO, Knopman DS, Mielke MM, et al. Higher risk of progression to dementia in mild cognitive impairment cases who revert to normal. *Neurology.* 2014;82:317–325.
49. Gomar JJ, Bobes-Bascaran MT, Conejero-Goldberg C, Davies P, Goldberg TE. Alzheimer's Disease Neuroimaging I. Utility of combinations of biomarkers, cognitive markers, and risk factors to predict conversion from mild cognitive impairment to Alzheimer disease in patients in the Alzheimer's disease neuroimaging initiative. *Arch Gen Psychiatry.* 2011;68:961–969.
50. Rabin JS, Schultz AP, Hedden T, et al. Interactive associations of vascular risk and beta-amyloid burden with cognitive decline in clinically normal elderly individuals: findings from the Harvard Aging Brain Study. *JAMA Neurol.* 2018;75:1124–1131.
51. Prasad K, Wiryasaputra L, Ng A, Kandiah N. White matter disease independently predicts progression from mild cognitive impairment to Alzheimer's disease in a clinic cohort. *Dement Geriatr Cogn Disord.* 2011;31:431–434.
52. Ihl R, Bachinskaya N, Korczyn AD, et al. Efficacy and safety of a once-daily formulation of *Ginkgo biloba* extract EGb 761 in dementia with neuropsychiatric features: a randomized controlled trial. *Int J Geriatr Psychiatry.* 2011;26:1186–1194.
53. Weinmann S, Roll S, Schwarzbach C, Vauth C, Willich SN. Effects of *Ginkgo biloba* in dementia: systematic review and meta-analysis. *BMC Geriatr.* 2010;10:14.
54. Herrschaft H, Nacu A, Likhachev S, Sholomov I, Hoerr R, Schlaefke S. *Ginkgo biloba* extract EGb 761(R) in dementia with neuropsychiatric features: a randomised, placebo-controlled trial to confirm the efficacy and safety of a daily dose of 240 mg. *J Psychiatr Res.* 2012;46:716–723.
55. Napryeyenko O, Borzenko I, Group G-NS. *Ginkgo biloba* special extract in dementia with neuropsychiatric features. A randomised, placebo-controlled, double-blind clinical trial. *Arzneimittelforschung.* 2007;57:4–11.
56. Le Bars PL, Katz MM, Berman N, Itil TM, Freedman AM, Schatzberg AF. A placebo-controlled, double-blind, randomized trial of an extract of *Ginkgo biloba* for dementia. North American EGb Study Group. *JAMA.* 1997;278:1327–1332.
57. Ramassamy C, Longpre F, Christen Y. *Ginkgo biloba* extract (EGb 761) in Alzheimers disease: is there any evidence? *Curr Alzheimer Res.* 2007;4(3):253–262.
58. Kandiah N, Ong PA, Yuda T, et al. Treatment of dementia and mild cognitive impairment with or without cerebrovascular disease: expert consensus on the use of *Ginkgo biloba* extract, EGb 761®. *CNS Neurosci Ther.* 2019;25:288–298.
59. Wu Y, Wu Z, Butko P, et al. Amyloid-beta-induced pathological behaviors are suppressed by *Ginkgo biloba* extract EGb 761

- and ginkgolides in transgenic *Caenorhabditis elegans*. *J Neurosci*. 2006;26:13102–13113.
60. Abdel-Kader R, Hauptmann S, Keil U, et al. Stabilization of mitochondrial function by *Ginkgo biloba* extract (EGb 761). *Pharmacol Res*. 2007;56:493–502.
 61. Salkovic-Petrisic M, Osmanovic J, Grunblatt E, Riederer P, Hoyer S. Modeling sporadic Alzheimer's disease: the insulin resistant brain state generates multiple long-term morphobiological abnormalities including hyperphosphorylated tau protein and amyloid-beta. *J Alzheimers Dis*. 2009;18:729–750.
 62. Hoyer S, Lannert H, Noldner M, Chatterjee SS. Damaged neuronal energy metabolism and behavior are improved by *Ginkgo biloba* extract (EGb 761). *J Neural Transm (Vienna)*. 1999;106:1171–1188.
 63. Heiss WD, Zeiler K. Medikamentöse Beeinflussung der Hirndurchblutung. *Pharmakotherapie*. 1978;1:137–144.
 64. Rodriguez M, Ringstad L, Schafer P, et al. Reduction of atherosclerotic nanoplaque formation and size by *Ginkgo biloba* (EGb 761) in cardiovascular high-risk patients. *Atherosclerosis*. 2007;192:438–444.
 65. Koltringer P, Langsteiger W, Eber O. Dose-dependent hemorheological effects and microcirculatory modifications following intravenous administration of *Ginkgo biloba* special extract EGb 761®. *Clin Hemorheol*. 1995;15:649–656.
 66. Huang SY, Jeng C, Kao SC, Yu JJ, Liu DZ. Improved haemorrhological properties by *Ginkgo biloba* extract (Egb 761) in type 2 diabetes mellitus complicated with retinopathy. *Clin Nutr*. 2004;23:615–621.
 67. Yoshitake T, Yoshitake S, Kehr J. The *Ginkgo biloba* extract EGb 761(R) and its main constituent flavonoids and ginkgolides increase extracellular dopamine levels in the rat prefrontal cortex. *Br J Pharmacol*. 2010;159:659–668.
 68. European Medicines Agency. Committee on Herbal Medicinal Products (HMPC). Assessment Report on *Ginkgo biloba* L., *Folium*; 2015.
 69. Spanish Society of Geriatrics and Gerontology. *Mild Cognitive Impairment in Older Adults*. Consensus Document [translated from Spanish]. <https://www.segg.es/media/descargas/Consenso%20deteriorocognitivoleve.pdf>. Accessed September 12, 2020.
 70. Jia, et al. *China Dementia and MCI Diagnosis and Treatment Guideline 2015. Section 2.1.3 Chinese Traditional Medicine and Other Therapeutic Methods* [translated from Chinese].
 71. Kressig RW. Alzheimer's dementia: non-drug-based and drug-based treatment. *Translation from Therapeutische Umschau - Verlag Hans Huber*. 2015;72(4):233–238.
 72. Raboch J, Uhlikova P, Hellerova P, Anders M, Susta M. *Doporučené postupy psychiatrické péče IV. Czech guideline* [Translated into English].
 73. Kasper S, Bancher C, Eckert A, et al. Management of mild cognitive impairment (MCI): the need for national and international guidelines. *World J Biol Psychiatry*. 2020;21(8):1–16.
 74. World Health Organization. *Risk Reduction of Cognitive Decline and Dementia: WHO Guidelines*. Geneva; 2019. Licence: CC BY-NC-SA 3.0 IGO.
 75. Olsson B, Lautner R, Andreasson U, et al. CSF and blood biomarkers for the diagnosis of Alzheimer's disease: a systematic review and meta-analysis. *Lancet Neurol*. 2016;15:673–684.
 76. Ngandu T, Lehtisalo J, Solomon A, et al. A 2 year multidomain intervention of diet, exercise, cognitive training, and vascular risk monitoring versus control to prevent cognitive decline in at-risk elderly people (FINGER): a randomised controlled trial. *Lancet*. 2015;385:2255–2263.
 77. Kivipelto M, Solomon A, Ahtiluoto S, et al. The Finnish Geriatric Intervention Study to prevent cognitive impairment and disability (FINGER): study design and progress. *Alzheimers Dement*. 2013;9:657–665.
 78. Wilson RS, Boyle PA, James BD, Leurgans SE, Buchman AS, Bennett DA. Negative social interactions and risk of mild cognitive impairment in old age. *Neuropsychology*. 2015;29:561–570.
 79. Hughes TF, Flatt JD, Fu B, Chang CC, Ganguli M. Engagement in social activities and progression from mild to severe cognitive impairment: the MYHAT study. *Int Psychogeriatr*. 2013;25:587–595.
 80. James BD, Wilson RS, Barnes LL, Bennett DA. Late-life social activity and cognitive decline in old age. *J Int Neuropsychol Soc*. 2011;17:998–1005.
 81. Bubu OM, Brannick M, Mortimer J, et al. Sleep, cognitive impairment, and Alzheimer's disease: a systematic review and meta-analysis. *Sleep*. 2017;40:1–18.
 82. Burke SL, Hu T, Spadola CE, et al. Mild cognitive impairment: associations with sleep disturbance, apolipoprotein e4, and sleep medications. *Sleep Med*. 2018;52:168–176.
 83. Doody RS, Ferris SH, Salloway S, et al. Donepezil treatment of patients with MCI: a 48-week randomized, placebo-controlled trial. *Neurology*. 2009;72:1555–1561.
 84. Almkvist O, Darreh-Shori T, Stefanova E, Spiegel R, Nordberg A. Preserved cognitive function after 12 months of treatment with rivastigmine in mild Alzheimer's disease in comparison with untreated AD and MCI patients. *Eur J Neurol*. 2004;11:253–261.
 85. Peters O, Lorenz D, Fesche A, et al. A combination of galantamine and memantine modifies cognitive function in subjects with amnesic MCI. *J Nutr Health Aging*. 2012;16:544–548.
 86. Feldman HH, Ferris S, Winblad B, et al. Effect of rivastigmine on delay to diagnosis of Alzheimer's disease from mild cognitive impairment: the InDDEX study. *Lancet Neurol*. 2007;6:501–512.
 87. Fink HA, Jutkowitz E, McCarten JR, et al. Pharmacologic interventions to prevent cognitive decline, mild cognitive impairment, and clinical Alzheimer-type dementia: a systematic review. *Ann Intern Med*. 2018;168:39–51.
 88. Gauthier S, Schlaefke S. Efficacy and tolerability of *Ginkgo biloba* extract EGb 761® in dementia: a systematic review and meta-analysis of randomized placebo-controlled trials. *Clin Interv Aging*. 2014;9:2065–2077.
 89. Hashiguchi M, Ohta Y, Shimizu M, Maruyama J, Mochizuki M. Meta-analysis of the efficacy and safety of *Ginkgo biloba* extract for the treatment of dementia. *J Pharm Health Care Sci*. 2015;1:14.
 90. Savaskan E, Mueller H, Hoerr R, von Gunten A, Gauthier S. Treatment effects of *Ginkgo biloba* extract EGb 761(R) on the spectrum of behavioral and psychological symptoms of dementia: meta-analysis of randomized controlled trials. *Int Psychogeriatr*. 2018;30:285–293.
 91. von Gunten A, Schlaefke S, Uberla K. Efficacy of *Ginkgo biloba* extract EGb 761(R) in dementia with behavioural and psychological symptoms: a systematic review. *World J Biol Psychiatry*. 2016;17:622–633.
 92. Beck SM, Ruge H, Schindler C, et al. Effects of *Ginkgo biloba* extract EGb 761(R) on cognitive control functions, mental activity of the prefrontal cortex and stress reactivity in elderly adults with subjective memory impairment - a randomized double-blind placebo-controlled trial. *Hum Psychopharmacol*. 2016;31:227–242.
 93. Gavrilova SI, Preuss UW, Wong JW, et al. Efficacy and safety of *Ginkgo biloba* extract EGb 761 in mild cognitive impairment with neuropsychiatric symptoms: a randomized, placebo-controlled, double-blind, multi-center trial. *Int J Geriatr Psychiatry*. 2014;29:1087–1095.
 94. Zhao MX, Dong ZH, Yu ZH, Xiao SY, Li YM. Effects of *Ginkgo biloba* extract in improving episodic memory of patients with mild cognitive impairment: a randomized controlled trial. *Zhong Xi Yi Jie He Xue Bao*. 2012;10:628–634.
 95. Grass-Kapanke B, Busmane A, Lasmanis A, Hoerr R, Kaschel R. Effects of *Ginkgo biloba* special extract EGb 761® in very mild cognitive impairment (vMCI). *Neuroscience Med*. 2011;2:48–56.

96. Lopez-Trigo, et al. *Spanish Consensus Document* [translated into English]; 2017.
97. Hoerr R, Zaudig M. A retrospective classification of diagnoses in terms of DSM-5 for patients included in randomized controlled trials of *Ginkgo biloba* extract EGb 761((R)). *Eur Arch Psychiatry Clin Neurosci*. 2016;266:249–259.
98. Mix JA, Crews WD Jr. A double-blind, placebo-controlled, randomized trial of *Ginkgo biloba* extract EGb 761 in a sample of cognitively intact older adults: neuropsychological findings. *Hum Psychopharmacol*. 2002;17:267–277.
99. Kaschel R. Specific memory effects of *Ginkgo biloba* extract EGb 761 in middle-aged healthy volunteers. *Phytomedicine*. 2011;18:1202–1207.
100. DeKosky ST, Williamson JD, Fitzpatrick AL, et al. *Ginkgo biloba* for prevention of dementia: a randomized controlled trial. *JAMA*. 2008;300:2253–2262.
101. Vellas B, Coley N, Ousset PJ, et al. Long-term use of standardised *Ginkgo biloba* extract for the prevention of Alzheimer's disease (GuidAge): a randomised placebo-controlled trial. *Lancet Neurol*. 2012;11:851–859.
102. Scherrer B, Andrieu S, Ousset PJ, et al. Analysing time to event data in dementia prevention trials: the example of the GuidAge Study of EGb761. *J Nutr Health Aging*. 2015;19:1009–1011.
103. Andrieu S, Gillette S, Amouyal K, et al. Association of Alzheimer's disease onset with *Ginkgo biloba* and other symptomatic cognitive treatments in a population of women aged 75 years and older from the EPIDOS study. *J Gerontol A Biol Sci Med Sci*. 2003;58:372–377.
104. Andrieu S, Gillette S, Amouyal K, et al. Lower incidence of Alzheimer's disease under long-term treatment with EGb 761® and other symptomatic cognitive treatments. *J Gerontol*. 2003;58A:372–377.
105. Amieva H, Meillon C, Helmer C, Barberger-Gateau P, Dartigues JF. *Ginkgo biloba* extract and long-term cognitive decline: a 20-year follow-up population-based study. *PLoS One*. 2013;8:e52755.
106. Dartigues JF, Grasset L, Helmer C, et al. *Ginkgo biloba* extract consumption and long-term occurrence of death and dementia. *J Prev Alzheimers Dis*. 2017;4:16–20.
107. Schulz M, Hoerr R, Mueller H. *Ginkgo biloba* extract EGb 761: a meta-analysis of adverse event rates from randomized, placebo-controlled, double-blind clinical trials. In: *46th ESCP Symposium on Clinical Pharmacology*; 2017. Abstract PT051.
108. Kellermann AJ, Kloft C. Is there a risk of bleeding associated with standardized *Ginkgo biloba* extract therapy? A systematic review and meta-analysis. *Pharmacotherapy*. 2011;31:490–502.
109. Bal Dit Sollier C, Caplain H, Drouet L. No alteration in platelet function or coagulation induced by EGb761 in a controlled study. *Clin Lab Haematol*. 2003;25:251–253.
110. Halil M, Cankurtaran M, Yavuz BB, et al. No alteration in the PFA-100 in vitro bleeding time induced by the *Ginkgo biloba* special extract, EGb 761, in elderly patients with mild cognitive impairment. *Blood Coagul Fibrinolysis*. 2005;16:349–353.
111. Kohler S, Funk P, Kieser M. Influence of a 7-day treatment with *Ginkgo biloba* special extract EGb 761 on bleeding time and coagulation: a randomized, placebo-controlled, double-blind study in healthy volunteers. *Blood Coagul Fibrinolysis*. 2004;15:303–309.
112. Wolf HR. Does *Ginkgo biloba* special extract EGb 761 provide additional effects on coagulation and bleeding when added to acetylsalicylic acid 500 mg daily? *Drugs R D*. 2006;7:163–172.
113. Jiang X, Williams KM, Liauw WS, et al. Effect of ginkgo and ginger on the pharmacokinetics and pharmacodynamics of warfarin in healthy subjects. *Br J Clin Pharmacol*. 2005;59:425–432.
114. Garcia-Ptacek S, Eriksdotter M, Jelic V, Porta-Etessam J, Kareholt I, Manzano PS. Subjective cognitive impairment: towards early identification of Alzheimer disease. *Neurologia*. 2016;31:562–571.
115. Reisberg B, Prichep L, Mosconi L, et al. The pre-mild cognitive impairment, subjective cognitive impairment stage of Alzheimer's disease. *Alzheimers Dement*. 2008;4:S98–S108.

How to cite this article: Kandiah N, Chan YF, Chen C, et al. Strategies for the use of *Ginkgo biloba* extract, EGb 761®, in the treatment and management of mild cognitive impairment in Asia: Expert consensus. *CNS Neurosci Ther*. 2021;27:149–162. <https://doi.org/10.1111/cns.13536>